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QUESTION 1

Refer to the exhibit.

admin:utils ntp status
ntpd (pid 17428) is running...

remote refid st t when poll reach delay offsat jitter
®#192,168:1.1 17.253.14.125 2 39 64 & 0.456 -0.236 0.116
¥192.168.1.2 17.253.14.125 2 u 38 64 3 0.817 ~=0.695 0395

When making a call to a Mobile and Remote Access client, what are the combinations of protocol on each of the
different sections A-B-C?

A. IP TCP/TLS (A) + SIP TCP/TLS (B) + SIP TLS (C)

B. SIP TCP/TLS (A) + SIP TCP/TLS (B) + SIP TCP/TLS (C)
C. SIP TLS (A) + SIP TLS (B) + SIP TLS (C)

D. SIP TCP/TLS (A) + SIP TLS (B) + SIP TLS (C)

Correct Answer: D

Reference: https://www.cisco.com/c/dam/en/us/td/docs/voice_ip_comm/expressway/config_guide/X8-9/Mobile-Remote-
Access-via-Expressway-Deployment-Guide-X8-9-1.pdf

QUESTION 2
What is a function of a call handler in Cisco Unity Connection?

A. It controls outgoing calls by allowing an administrator to specify the numbers that Cisco Unity Connection dials to
transfer calls, notify users of messages, and deliver faxes.

B. It provides access to a corporate directory by playing an audio list that users and outside callers use to reach users
and leave messages.

C. It answers calls, take messages, and provide menus of options.
D. It collects information from callers by playing a series of questions and recording the answers.

Correct Answer: C

QUESTION 3

On a cisco catalyst switch which command is required to send CDP packets on a switch port that configures a cisco IP
phone to transmit voice traffic in 802.1q frames tagged with the voice VLAN ID 221?
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A. Device(config-if)# switchport access vlan 221

B. Device(config-if)# switchport trunk allowed vlan 221
C. Device(config-if)# switchport vlan voice 221

D. Device(config-if)# switchport voice vlan 221
Correct Answer: D

switchport voice vlan {vlan-id |  vlan-id—Configure the phone to forward all voice traffic through the specified VLAN. By
default, the Cisco IP Phone forwards the voice traffic with an IEEE 802.1Q priority of 5. Valid VLAN IDs are 1 to 4094.

QUESTION 4

Which two conditions must a user meet to provision a new device using the Self-Provisioning feature? (Choose two.)
A. The user must have a primary extension.

B. At least two DNs must be assigned to the user device.

C. The user must be part of "Standard CCM Super User".

D. The user must have the appropriate universal device template linked to the user profile.

E. The user must have at least user device profile assigned.

Correct Answer: AD

The user must have a primary extension.

The user must have the appropriate universal device template linked to the User Profile.

The total number of owned devices must be less than the Self-Provisioning limit that is specified on the associated User
Profile.

QUESTION 5

What causes poor voice quality and video pixelization in a video call?

A. The QoS is configured incorrectly.

B. A firewall is blocking the RTP ports.

C. Cisco Unified Communications Manager is configured to use G.711 instead of G.729.
D. 1 Gbps network ports are used instead of 100 Mbps network ports.

Correct Answer: A
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